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Question Number : 1 Question Id : 5171449589 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What does "learning style” refer to in education?
AH Dowogoi) egrgddd OBMTHD

Options:

The innate ability to acquire knowledge.
@;@Qi‘éé} FaTees ﬁu@ggm

1. %
The cognitive capacity for critical thinking.
&‘é}éﬁ*mﬁ &S5 @fer %vé}géa’m
2. % &
The personal approach to learning and processing information.
©EIERENN, Jarardsn Bran ootk ettt é@éﬂj«:ﬁé:ﬂ
3.¢

The teaching methods used by educators.
803 % aeth s é%e‘_ﬂ}@a

Question Number : 2 Question Id : 5171449590 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

How can a positive learning environment enhance the learning process?
iﬁmé&é g areradnin, @gr (DIBahih Jéy ehBo S0508

Options :



By discouraging collaboration among students.
S}mﬂéﬂﬁg&} S0 SrerTeR)) AETEHBe

By providing limited access to resources.

5 % HHHOB 5B (HSIE0D ©oBoHE

By fostering motivation, engagement, and creativity.

(@883, DS, DETrEES DosrooHe
3.¢

By imposing strict rules and regulations.
BRI Vahdh Daodhdesh Hothe

Question Number : 3 Question Id : 5171449591 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is a key principle of learner-centered methods?
wgfhodarR) Solfg)s B Sof e

Options:

Passive role of students in learning.
. SRS Dorgiie apaires)E oS

Teacher's responsibility to memorize all content.

. 0o FEEodHn HBODEEE® HEHR args
2.



Focus on adapting to individual student needs.
Tl Vape ©HITONDNH00D) Ha

3. ¢

Strict adherence to a standardized curriculum.
[ErSrdE arorgodEintd EBSorr Etnal soth

Question Number : 4 Question Id : 5171449592 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

What does SWAYAM stand for?
oo @03 ?

Options:

1 % System for Web-based Assessment and Youth-oriented Monitoring

Study Webs of Active Youth for Advanced Learning Management

v Study Webs of Active-Learning for Young Aspiring Minds

Sustainable Web-based Academic Yearly Assessment and Management

Question Number : 5 Question Id : 5171449593 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No



Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

What is the primary purpose of a Learning Management System (LMS)?

afressirddy ;’i:’g?} 36{:%%3&.}636 ANE:V ﬁé%%ﬁj&b 7

Options :

To manage financial transactions for educational institutions
_— ST ﬁo*’%}}e_}.’é} @gé Sgsdeiroren JEerothés

To facilitate communication between students. parents and teachers

5 % E}mﬁgd]m@ &8 &o(then, Ecﬁvmﬂédﬁm@ S0gig arden hegfo Bc50e

To create and deliver online courses, manage content, and track student

progress
©O80 Eﬁtﬁa;ja}eéj, $a0d DD, aroegoddn DEeroh, oo HEKa9
H0B0ohed
3. . —
To replace traditional textbooks with digital resources
FeoHrcHE SeBpHNESseR Edben SHHoS® 36 Johne
4, %

Question Number : 6 Question Id : 5171449594 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which type of research aims to explore new theories and ideas to generate
hypotheses?
DBEedef 66 Vb o H68°s a’gcgéam,gf’é ?bm;oéainméa esbSdoh

@ﬂiﬁmzﬁmé P CDERD.

Options :

1. %



Descriptive research
égmééé ot ity

Exploratory research
@55ﬁmﬁé&§ 568855

Experimental research
{fﬁﬂmﬁr’ﬁ&é $508%5%

CQluantitative research
;flag]}‘:‘ﬂ'&'l'“é[&é éﬂéﬁcﬁé

Question Number : 7 Question Id : 5171449595 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Positivism in research emphasizes:
568G §rei)E BAD esosHdy

Options :

Subjective interpretation and personal beliefs
oE(Eagdhd HDdm, ENS Jaysten

1. %

The importance of intuition and gut feelings

- ©0868)8), @olEsne Do (RS



The use of rigorous scientific methods to uncover objective truths

DB Vered) 308 Eaiwrd® EB5DHD QoD HPHe BHERKED
3. %

The rejection of empirical evidence in favor of abstract theories
SSoeg cEC-C};DEjO wingroonr, @igrds 'ﬁv%&& QDoeEBochés
4, #

Question Number : 8 Question Id : 5171449596 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0
What is the first step in the research process?
58885 [gﬁ[_%@ﬁatﬁﬁ S0t @Hih 8

Options :

Data analysis

. Saeod BN
1.

Writing the research report
H568°5% BEFY (Erakn

Formulating research questions or hypotheses
568555 Do, HdBKeH S| B%80:56

Conducting a literature review
(o ﬁg‘ué Dsne
4. %

Question Number : 9 Question Id : 5171449597 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

The appendices section of a thesis includes:
2.& HOEES g edogre Dertiodt ond sothd

Options :

The acknowledgments and dedication pages
8D, @oBSoiahn nden

A list of all the tables and figures in the thesis
?’\:ngoeté aoéﬁa’mﬂéﬁ é@éﬂ, ®08e) &oi)ar

Extra information, such as data tables, survey forms, or supplementary
materials

Herod ﬁ@m, éﬁrﬁé groren, ol ®oFen Hod) ofl Sdrortan

A detailed description of the research methodology
588855 583 D DDBes

Question Number : 10 Question Id : 5171449598 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

How does ICT impact research dissemination?
ICT $588°5a o) 2 QtnHod (Hegrdo Lrshod

Options :



It limits research dissemination to local audiences only
508 a5ad SIS (58808 HBEo THod

It enhances research dissemination through online platforms, social
media, and open-access journals
©BS8S JbBen, FHrEY HrgiEvas, [Hadin 85D &X) J|B8en woe

568550 a5 arheod
2. ¥

It replaces the need for written research reports
HB8°ES s B wBioeR) 8 Bod

3. %
It discourages researchers from sharing their findings with others
$588°5%en weEm EiP)B adhobH ©obosod® e HHinod

4, %

Sub-Section Number : 2

Sub-Section Id : 517144392

Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 5171449599 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval
to replay(In Seconds) : 0 Allow Volume Control : No

Question Numbers : (11 to 15)

Question Label : Comprehension



Note: Answer the questions 11-15 by reading the following passage:
HaE: 1808 @ £2360) AP0 SO0 Q. 11 aD0G Q. 15 [234) ©8) ASrTraren

|°0006.

The investigation of the geology of all the places visited was far more important, as
reasoning here comes into play. On first examining a new district nothing can appear
more hopeless than the chaos of rocks; but by recording the stratification and nature of
the rocks and fossils at many points, always reasoning and predicting what will be
found elsewhere, light soon begins to dawn on the district, and the structure of the
whole becomes more or less intelligible. | had brought with me the first volume of
Lyell's ‘Principles of Geology,” which | studied attentively; and the book was of the
highest service to me in many ways. The very first place which | examined, namely St.
Jago in the Cape de Verde islands, showed me clearly the wonderful superiority of
Lyell's manner of treating geology, compared with that of any other author, whose works

| had with me or ever afterwards read.

ﬁodﬁ&@goﬁé o) BaFe ?ﬁ)ﬁtie) PRo g 568088 ooee g6, DotnEod
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Sub questions

Question Number : 11 Question Id : 5171449600 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



The author is interested in the study of
B5owed oixchdon odf BDA Gab.

Options :

Environment
étﬁ;géff}sao

rocks and fossils
feen 00 Seweren

nature
258

minerals
BeleIeen)

Question Number : 12 Question Id : 5171449601 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

On his first investigation, he finds the rocks very

ESows B°F (groso HosBjodsd o) 1800 Sraed.
Options :
disorderly

pwd s 5
v @ﬁé@ﬂcm &y 0]

disturbing
B8 2E



welcoming

e BoS
3. i@ ol
inhospitable
_ e3tiBodR)
4, %

Question Number : 13 Question Id : 5171449602 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The phrase- ‘light soon begins to dawn’ means
‘e‘.ﬁ&ﬁﬁtﬁﬂ JentH (D608 ®@08

Options :

day-breaks
Beaieod

Sun shines brightly
Jengtd seddodorr Hse 8

clarity emerges about the situation
2008 2 ad SHob

daylight begins
, 2N Sentd [ePBodisnay) o

Question Number : 14 Question Id : 5171449603 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The author finds the book, ‘Principles of Geology’ as most
BSowd FREE B Grj@een DB @0 B HBRHR.

Options :

exemplary
Elatel(Lvlen Y

imperfect
©0FPBHD

mediocre
etz v

inferior
RSB

Question Number : 15 Question Id : 5171449604 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Mr. Lyell is an/ a
SHH6 OAHS 2.8

Options :



Geophysicist

ﬁﬁy%ﬂhﬁg
1. % P
Author
> % BeSomes

Geologist and author
3 ¥ e-;i,méjwmaﬁ a&@éé s0Bdsn Bdomne

explorer
4 % @3‘@&@
Sub-Section Number : 3
Sub-Section Id : 517144393
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 16 Question Id : 5171449605 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

A communication prevents misunderstandings and helps in
establishing a constructive relationship.
§Eﬁ].‘}§§)é§:,5 @}é)vtg@éj Qw808 Hbain R}Uuéaamééé Slesalelng)]
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Options :
positive
RN

1.+



passive
R(apad

reflective

&3S w558 &raS
3. %

retentive

oedes 48 He
4. %

Question Number : 17 Question Id : 5171449606 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

Being in communication helps in establishing credibility as a
professional
BrRiss Edmd8nss? e &0te0 58 &ﬁgﬁ}ﬁ) &850 5{;3)0{560&5’5

FSES ey s ln3ls 3eln)
Options :

reserved
abSgray

confident
é&f)}éé o)

soft spoken
{)}Ej,iﬁnwﬁq



indifferent
abhie

Question Number : 18 Question Id : 5171449607 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

Classroom communication is effective only if the teacher is
GarEEgained SEK8 K6 éa")]]é@éﬁg D#ddosorr sotnod

Options :

emphatic
5“%&,&’)9&5%@

empathetic

FeHB e s eownas
2. ¥

gentle
%‘}5’3335&3 o
3.
loud
KB DS
4, % "o

Question Number : 19 Question Id : 5171449608 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Usage of can be avoided in inter cultural communication to steer
clear of misunderstanding and ambiguity
©088 [Sop8 Hogriedt, B erEssHe Hob @c?mgo B0ty @S0

DarBoNasRD.
Options :

translation
@070

non -verbal communication
Eﬁ%’c@é R OEPSIEs

accent
A

jargon
DBgeD

Question Number : 20 Question Id : 5171449609 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

One of the important forms of traditional media is

Po[RERad HrgsEvo Ging) Hngghd Srarerdd 2. 58

Options:

Theatre and drama

|, Bolineo snbdin o
1. ¢ &



Newspapers
SPTR)(SBEen

MNovels
3 % QDO

journals

4% H(B8en

Question Number : 21 Question Id : 5171449610 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

6, 8,19,61,249,
Options :
1249

1. %

, % 1261

3 ¢ 1251

4 % 1256

Question Number : 22 Question Id : 5171449611 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

ABFL, BDLX, CFRJ, DHXYV,
Options :

EICH

1. %

EJDI

o EJDH

FICH

Question Number : 23 Question Id : 5171449612 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

In a certain code language if the word SOLUTIONS is coded as SNOITULOS,

then the word ANSWER coded in that language is

2.8 D0 §5 272 SOLUTIONS &7 3¢50 SNOITULOSTF 86 T0H068, & 276>
ANSWER §'& Sohatcd 980

Options:

. RENSWA

, » RENSAW



REASWN
3. #®

4V REWSNA

Question Number : 24 Question Id : 5171449613 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

The cost of 3 pens and 21 pencils equal to the cost of 5 pens and 7 pencils. The

ratio of the cost of a pencilto thatofapenis

0000 BAW 21 DRID) GG 5 0N €0 DO 7 DRID ) OOE MAFNO.

0O A DHOAW D) OO A ed

Options :

4.« 17

Question Number : 25 Question Id : 5171449614 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No



Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
An A.C. is purchased for Rs. 55,000 and sold it for Rs. 44,000. The loss

percentage is__
2,8 DA &, 55,000 §R) SO0 T E5°. 44,000 €920 TR IR0 FTHO
Options :

15%

25%

20%

Question Number : 26 Question Id : 5171449615 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Statements:

Some gold are silver.
Some silver are bronze.
Mo bronze is iron.
PSLTATNBYS
§0ed 20md0 0.

5 Ha3eren 5°0o050.
070 @0T) @D 5°¢0.

Conclusion:

I Some bronze are gold.

Il Some iron being bronze is possibility.

1. Some iron being gold as well as silver is a possibility.

ST Re:

L §Q)) sroarreen 20rH0.

II. 5065 Qe OO S0R 995740 G0,

IIL. §°0¢% R0 220MTHOE e I0d $0 G SOB e9S95H0 S0 d.

Options :

I and I follow
I s000 I 293000

T follows
I e9:50a0050e0

I and T follow
I s0G0 OI &900m00T00

I follows
I 20O 0T

Question Number : 27 Question Id : 5171449616 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



In a class of 80 students 30 students like tea, 35 students like milk and 25
students like coffee. It is also known that 15 students like both tea and milk, 17
students like both milk and coffee and 14 students like both tea and coffee, 9
students like tea, coffee as well as milk. The total number of students who like
neither tea nor coffee nor milk?

80 0B DTsen) TR, 30 06 e ¢3, 35 206 Few, 25 oA
SR BRIGESD. 15 0O doredden 63, e, 17 208 doesden Frew, Shew,
14 508 Doesden 63, shen, 9 008 drTshen 6 50, Sren &) . ¢,
S0, 70 ARDGR DO HoWE D0es?

Options :

1« 27

3 % 10

4. %

Question Number : 28 Question Id : 5171449617 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

How is my father's father's only daughter-in-law’'s brother related to me?
AT YT ) 10 2.5 eTE), O e8:500338 7050 020850 abe3?

Options :

Father
®

> w Paternal Uncle



3 ¥ Maternal Uncle

4 % Cousin

Question Number : 29 Question Id : 5171449618 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

The distinction between Savikalpaka (determinate) and Nirvikalpaka
(indeterminate) is made with respect to which of the following pramanas?
JsrE (ABAird)Eo) Bain ABEenE fé'\}ggé_) gl gm0 &8 (Bob

TBE O 558 Bohadod

Options :

Anumana (inference)
1 % @iare (modaer)

Pratyaksa (perception)

558 (08reaed)

Arthapatti (postulation)
o858 (BEDS)

Upamana (comparison)
G0drd (590%)



Question Number : 30 Question Id : 5171449619 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

Consider the following statements and choose the right option

BI0% YSDoSed H6KHEE"S B:nE%08 Hban IBK @S J0HS ol

(a) Middle term should be distributed in atleast one premise
Ho555°0soR) 800 28 [Hi5haHos’ Hodd Foird.

(b) Middle term should be present in the conclusion
SmA0HE gy Do &owed.

(c) Both premises can be particular in a valid argument
Beparen oy FE8S° Both ([Habairen W erslelg - Telat N

(d) Both premises can be negative in a valid argument
Denerén @o"foé 5560 Botd (Hahoiren (Ha%roomr olelatatnnl
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The line graphs give the sales and expenditure of a company across five years.

starting from 2010. The value of both sales and expenditure for the year 2010 is

indexed to 100. It is known that the profitin 2012 was Rs. 1 cr.
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In at least how many years did the company make a profit?
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| % 2010

2012

2014
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In which year the percentage income in sales is highest?
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1.« 2011

2012

2014
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If the sales of the company in 2010 was Rs. 250 cr. Then what was the profit in
2013
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What was the approximate percentage decrease in profit in 2012, when

compared to 20117
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4 VOO0 CH50 57

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Is Section Default?:

5
517144395
Yes

null



Question Number : 36 Question Id : 5171449626 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

What is the full form of 'GIF' ?
'GIF' {8 arsoabéd ?
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Global Internet Format

“ Global Interface Format

Graphics Interchange Format

Graphical Interface Format
4, =
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What is the primary function of an IP address?
IP Dharse e 06 db ?

Options :

To identify a device on a network
| o OS5 &8 HOEo rhBoibe



To store WebPages
35 Do PH Do
2. % i

To process email messages

3 % BEDOVED TPBORD 20D

To encode video content
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30 DTH channels
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, 80 E&TrD cﬁﬂﬁ(@

80 DTH channels

80 &3S anﬂéag
4. #



Question Number : 39 Question Id : 5171449629 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following ICT initiatives of MHRD deals with E-governance for institutions
[ Universities?
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Options :

SWAYAM
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What does the term "Wi-Fi" stand for?
'B2" eidre I ?

Options :

Wide Frequency
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VWireless Function

, x 2685 o5

Wireless Fidelity
3685 HE0S

Wide Functionality
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In which year was the United Nations Commission on Sustainable Development
(CSD) started by the UN General Assembly?
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| o 1992

, s« 1993

5 % 1994

1995
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Which of the following is not a negative impact of urbanization on the
environment?
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Options :

Deforestation
&8 &ﬁ?&ﬁ}é

Pollution
513@:::{}50

VWaste recycling
sgre 5o

Loss of biodiversity
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Which of the following gas is more in percentage in the air?
mhHed )85 Fosod 63)) A0y 2080 ?

Options:

1.



Oxygen Gas
e98yezdo

Nitrogen Gas

S e
2. %

VWater Vapour

3 % N8 =96

Carbon Dioxide Gas
ﬁ’ﬁg SENFD A0
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Why biogas is considered a ‘'good’ source of energy?
a@rTod el Hodds SSHhmr Jdothded HBNETH

Options :

as it produces ashes
08 ardtd 683 35708

as it produces methane

, x ©0 DI 653 Txnod

as it burns without releasing smoke
©b &K BHowe otHEHod



as it decomposes in the absence of oxygen
sdzS 58 4ok Sfdod
4. %
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What is objective of the Paris Agreement/Accord?
00 atonlE/ D58 ang) oFgEm

Options :

Decrease Global Warming below 2 degrees Celsius
1235305 ﬁéé}é&}?ﬁ} 2 &lfio DEHHD HIHHSH ShoHe

Decrease Global Warming below 3 degrees Celsius
Do SeEp 3 Glhe DSHEDD BIDHDH Shoes

Decrease Global Warming below 1.5 degree Celsius
20 ééé}é&}@ 1.5 Blfieo DoHchh HIHDHdH eﬁﬁotﬁm

Decrease Global Warming below 1 degree Celsius
$550%8 gt 1 &lfe DSHEHD BIDSDH Shodé
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Under whom, Nalanda was greatly ransacked by the army of Mamluk dynastic of
Delhi Sultanat?
&8 Ders @ng) Srdel S8 o 58 HBarORE® Soomr JEHP

oirentob.

Options :

. Chandragupt Maurya

Aurang jeb

3 ¥ Bakhtiyar Khiliji

Allaudin Khiliji
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The main governing body at the tertiary level of education in India is....
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Options:

NCERT

, » CBSE

AICTE



UGcC
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Which of the following is an example of conventional learning programme in India?
& 6193 6 OB mobairE” FoRrehE wgrlE amrirdn

Options :
Yoga
1% ai
Fine Arts
e B¥en
2. #®
Agriculture
o T
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Fashion Designing
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One among is not a Core Critical Thinking Skills
aothed 2. ¥ 08)g Lol et Jedeagiin 5oth
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Interpretation
DG

Analysis
D3es

Self-regulation
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Self esteem
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The main objective of teaching at Higher Education Level is.....
S8 &mﬁgﬁgméﬁ &85 GBng) Hngy ©F;En

Options:

To prepare students to pass examination
Samugifg@c‘(:o ééé@ﬁ ﬁ@;eﬁnﬁmmmé SSSrthdcing

To develop the capacity to take decisions

ABcHo HHT $8D 50 Dc%ned
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To give new information
8¢ Samardo s

®
To motivate students to ask questions during lecture
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Which one of the following 1s NOT one of Drucker's five guiding principles of

management?

Options :

| % Making people's strengths effective and their weaknesses irrelevant.

5 % Enhancing the ability of people to contribute.

3 ¢ To operate the organization’s status system.

Integrating people in a common venture by thinking through, setting and

4 % exemplifying the organizational objectives. values and goals.
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Assertion (A):  Management 1s called an exact science.
Reason (R): Management deals with complex human behavior. which cannot

be determined with accuracy.

Options :

1 % Both (A) and (R) are true. and (R) 1s the correct explanation of (A).

5 % Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(A) 1s true, but (R) 1s false



(A) 1s false. but (R) 1s true
4,

Question Number : 53 Question Id : 5171449643 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What 1s the guiding prineciple behind New Public Management?

Options:

Profit maximization

1. %

5 Introducing private sector business principles into the public sector

3 % Replacing public management with private sector management
Restructuring public organizations

4, %
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Match the techmiques of scientific management in List —I with their objectives in
List-IT and choose the correct answer from the options given.

List-I List —II

I Time Study (a) | Eliminates unnecessary movements in
doing a job

II Motion Study (b) | Determines standards

III | Method Study (¢) | Determines rest intervals

IV | Fatigue study (d) | Finds out one best way of doing a job

Options:

Options:

I(b): II (e): ITI (a): IV (d)

I(b): II(a): I (d): IV (c)

I(d): II (c): ITI (b): IV (a)

I(c): II (b): III (a): IV (d)
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Improving quality through small. incremental improvements is a characteristic of what
type of quality management system?

Options :



Kaizen

Just-in-tume

Six Sigma

Total Quality Management
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To what does emotional intelligence refer?

Options :

1 % How people view and understand themselves.

How people view and understand the world.

3 ¥ How people view and understand themselves and others.

How people view and understand others.
4, %
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Which of the following factors keeps the price elasticity of demand for a product low?
Options :

Low priced product

5 % Close substitutes for a product

3 % Variety of uses for a product

4 % A high proportion of income spent on a product
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Demand curves have a negative slope because-
Options :

“ Firms tend to produce less of a good that 1s more costly to produce.

The substitution effect always leads consumers to substitute higher quality

5 % goods for lower quality goods.



The substitution effect always causes consumers try to substitute away from
the consumption of a commodity when the commodity’'s price rises.

An mcrease in price reduces real income and the income effect always
causes consumers to reduce consumption of a commodity when income

4 % falls.
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If a firm has a downward sloping long-run average cost curve. then it is a case of
Options:

Decline in total cost

Decline 1n cost per unit

Decline 1n average variable cost

Decline in marginal cost
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Which of the following 1s NOT a characteristic of a corporate social responsibility
framework?

Options:

Betamning the status quo
1.¢ SIS eaiES

Building capacity
2. ®

Understanding society

Harnessing society
4. %
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A manager’s role changes from a leader’s position to a partner’s position 1 which of

these types of organisations?
Options :
Autocratic

1. %

Collegial
2. %

3 % Supportive



Custodial
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According to Tuchman (1965), which of the following 1s NOT a stage of the life

cycele of a group?

Options:

1 % Performing

Norming
2. % B

3 « Reforming

. ! o
4 % Storming
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Which of the following 1s NOT part of Schein's model of the formation of culture?

Options :



Pre-conceptions
1.9

Shared values

2. %
3 % Shared beliefs
4 % Norms
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What 1s T-group training?

Options :

A group whose aim is transformational change

1. %
5 % Team training for the purposes of advancing technology
3 ¥ Team building activities involving learning

A group brought together to deliver tramming programmes
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Which of these 1s NOT an advantage of a virtual team?

Options :

: No overhead costs associated with physical buildings.
- g

Low ranspo1t or Ct}llllllllfitlg COsls,
2. %

3 % Team members can be recruited for their specific skills or experience.

Contlicts can be resolved easily using face-to-face meetings.
4.
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What type of organizational culture 1s most likely to deliver stability and
efficiency?

Options :
Task culture

1. #

Role culture
2.



3 % Power culture

“ People culture
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Assertion (A): Recruitment is a positive step in the process of staffing.

Reason (R): Internal sources of recruitment boosts up the morale of the employees.

Options :

Both (A) and (R) are true. and (R) is the correct explanation of (A).

Both (A) and (R) are true. and (R) 1s not the correct explanation of (A).
2. %

3 % (A) 1s true. but (R) 1s false

(A) 1s false. but (R) 1s true
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Which of the following is not a stage in the systematic training cycle?

Options :
Assessing training needs
1. %

5> % Planning the traming

3 « Job mstruction one to one basis

4 % Ewaluation
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The addition of new tasks into the job broadens the concept of job 1s classified as:
Options :

Job Enrichment

1. %

> Job Enlargement
Job Validity

3. %



Job reliability
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The purpose of job evaluation 1s:
Options :

Wage determination
1.+

Promotion
2. %

Fixation of responsibility
3 %

Transter to a better job
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Match the ‘category of compensation” with ‘compensation plan’ and select the

correct answer from the options given below:

Category of Compensation Compensation Plan
I | Pay for time not worked (a) | Saving plan
II | Services and perquisites (b) | Stock option
I | Protection programme (¢) | Pension
IV | Incentive pay (d) | Sick leave
V | Deferred pay (¢) | Low cost meals
Options:
Options:

I(c): I (d): III (b): IV (a): V (e)

I(d): II (e): ITI (c): IV (b): V (a)

2. .

I(d): II (e): III (a): IV (b): V (c)
3. %
4 % I(c): O (e); I (a): IV (d): V (b)

Question Number : 72 Question Id : 5171449662 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
What is the process of deciding how to fill company’s most important positions?

Options :

. Oreganisational Restructuring
1 g g



Corporate Downsizing

Self-directed Teams

Succession Planning
4.
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Team learning. a characteristic of a learning organization. can be described by

which of the following ideals?

Options :

Individual aspirations

o« Shared dialogue

3 % Recognize and nurture needs

Shared vision
4. %
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The balanced scorecard proposes that organisational success depends on:

Options :

1 % A focus on only the internal environment of the organization

A constantly changing external environment

an ability to develop a complete list of cause and effect relationships driving
3.« afirm's success

the belief that 1t 1s impossible to take a rationalist view of the organisation
to make optimal choices
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Match the List I with the names shown in List-II and select the correct answer
from the options given.

List - I List - II
I | Model of Change (a) | Peter Drucker

II | Behaviour Event Interviewing (BEI) | (b) | Me Kinsey
I | Management by Objectives (MBO) | (¢) | David Me Clelland
IV | Concept of Talent Management (d) | Kurt Lewin

Options:

Options:



P I(d): II(c): ITI (a): IV (b)

I(b): II (a); I (d): IV (c)

2.

I(d); II (c): ITI (b): IV (a)
3. %

I(c): I (b): I (a): IV (d)
4,
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What are the uses of competency mapping?

a) Designing compensation plans

b) Assessing and selecting candidates for a job
c) Planning for organisational development

d) Employee training and development

Choose the correct answer from the options given below:

Options :

1 % (a) and (c¢) only

5 (b) and (d) only

3 ® (a) and (b) only



., (¢)and (d)only
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What 1s the purpose of a 'mystery shopper'?

Options :

A person who pretends to be a manager to test the service process.

A person who pretends to be an employee to test service process.

3 « A person pretends to be a real customer to test the service encountered.

A person who works for a competitor and pretends to be a customer to test

the service encountered.
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Which amongst the following 1s / are the matters to be provided in the standing

orders?

a)  Attendance and late coming
b)  Shift working

¢)  Adequate working conditions
d)  Water facility

Options :

Only (a)
H -

5 % Only (b)

3 @ Both (a) and (b)

Both (a) and (c)
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Organisation development (OD) 1s founded on the belief that using behavioural

science methods to increase collaborative problem solving would inerease-
Options:

1 & Organisational effectiveness

> ® Organisational reputation



Organisational turnover

Organisational climate
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A fair day work for a fair day pay” denotes a sense of telt by employees.
Options :

1. % Responsibility

Respect
2. %

3 % Happiness

Equity
v quuly
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Rearrange the steps mentioned in a remuneration model.

a) Pay survey

b) Job evaluation

c) Pricing jobs

d) Job hierarchy

e) Job description
Options :

(a). (b). (). (d). (e)

. (d). (c). (b). (e). (a)

3 @ (e). (b), (d). (a), (c)

(e). (a), (e). (d), (b)
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Match the List-I with the List —II and choose the correct answer from the options
given below:

List -1 List - II

(a) | The business will operate for a
long period of time and 1t will
not be dissolved in the near
future

(b) | The accounting equation.
‘Assets= Capital + Liabilities
(¢) | Personal affairs of the owners
should not be considered

Business entity principle

Going concern principle

i Accounting period principle

(d) | The revenues of a particular
1v | Dual aspect principle period must match with the
expenses of that period

(e) The revenues of a particular
period must match with the
expenses of that period

Options:

Options:

1 x 1. I(0). I (e), IV (a)

5 & I(c), I (a). III (&), IV (b)

5 x 1@ I®).IM@W.IV(a)

I(d).II (b). III (). IV (a)
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Where do we show Provision of bad debts in final accounts 1if given in
adjustments?

I. Debit side of Profit and Loss Account
II. Credit side of Profit and Loss Account
III. Deduct from Debtors in Balance Sheet
IV. Add to Debtors in Balance Sheet

Options :

1 % landIV

I and IIT

IIand IV

IT and IIT
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Balance sheets are based on which of the following formulae?
Options :

1 % Assets = Liabilities — Stockholders” equity

. Assets + Liabilities = Stockholders’ equaty



Assets = Liabilities + Stockholders’ equity
3. ¥

Assets + Stockholders” equity = Liabilities
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Determine stock turnover ratio if, Opening stock is Rs 31,000, Closing stock is Rs
29.000, Sales 15 Rs 3.20.000 and Gross profit ratio 1s 25% on sales.

Options :

8 times

5 % 11 times

3 % 14 times

32 times
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Depreciation charged on fixed assets in the Funds Flow Statement 1s considered as

a) A source of funds
b)  An application of funds
¢)  Source of funds in limited sense
d)  Added back to the operating profit to find out funds from operations
Options :
1 % (a) and (d) only
“ (b) only
3 % (d) only
(¢) and (d) only
4, &
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A non-trading company pays Rs. 5.00.000 to acquire shares Bloomberg Limited
and 1t received Rs.40.000 as dividend after acquisition. In the Cash Flow Statement.
these transactions will result 1n:

Options :

1 % Cashused in investing activities - Rs. 5.00.000

5> % Cash generated from financing activities — Rs. 5.00,000



Cash used 1 investing activities — Rs.4.60.000
3.

Cash generated from investing activities — Rs. 4.60.000
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A company proposes to introduce a new product i the market. The company wants
to maintain profit-volume ratio at 25 percent. If variable cost of the product 1s

Rs.600. what will be its selling price?

Options :

Rs.500

Rs.600

Rs.700

REs.800
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Which of the following are NOT assumptions of Marginal Costing?

a) The total cost can be segregated into fixed and variable costs.
b) Fixed costs per unit of production remain constant.

c) Variable cost remains constant per unit of output.

d) The selling price per unit remains unchanged.

€) Variable cost 1s variable per unit.

Choose the correct answer from the options given below:

Options :

1 % (a) and (b) only

b) and (e) only
Z.ﬁ"( ) and () only

3 % (c¢) and (d) only

4 % (b) and (¢) only
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Which of the following model /method makes use of beta in calculation of cost of

equity?

Options:

Risk Adjusted Discount Method
1. %

v Capital Assets Pricing Model



Miller—Modigliani Model

4 % Price-Earnings Model
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The cost of equity share capital i1s greater than the cost of debt because-

Options :

Equity shares carry a higher risk than debt
1. %

Equity shares do not provide a fixed dividend rate

3 % Equity shares are not easily saleable

The face value of equity shares is lower than the face values of debentures

4 % Inmostcases
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Zero-based budgeting forces managers to:

Options :

1 % Estimate a products revenues and expenses over its expected life-cyele

5 % Prepare a budget based on historical costs

3 % Formulate a budget by objective rather than function.

Justify all expenditures at the beginning of every budget period.
4.« ) ) )
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The ratio of the percentage increase in earnings per share (EPS) to the percentage
merease 1n earnings before mterest and taxes (EBIT) 1s referred to as:

Options :

Operating Leverage

5 Financial Leverage

Combined Leverage

Working Capital Leverage
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When the nominal rate of imnterest is 10% per annum and there is quarterly
compounding. the effective rate of mterest will be:

Options :

10% per annum

10.10% per annum

10.26% per annum

10.38% per annum
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Assertion (A):  Trading on equity raises the return on equity to the shareholders
of a company.

Reason (R): The cost of debt 1s lower than the cost of equity and interest paid
on debt 1s tax deductible.

Options:



Both (A) and (R) are true, and (R) 1s the correct explanation of (A).

Both (A) and (R) are true. and (R) 1s not the correct explanation of (A).

2.
3 % (A) 1s true. but (R) 1s false
4 % (A) 1s false. but (R) 1s true
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Which of the following is true for a project with a shorter payback period?
Options :

The project will have a lesser rnisk

5 % The project will have less Net Present Value

3 % The project will have more Net Present Value

4 % The project will have a greater rnisk
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If capital is to be rationed for only the current period, a firm should probably first
consider selecting projects by descending order of:

Options :

Net present value

Payback period

3 % Internal rate of return

Profitability index
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Which theory advocates that the dividend policy of an entity 1s a part of its financing
decision?

Options :

Miller M and Modigliani F.

5 Residual Theory of Dividend



3 % Walter J.E.

4. % Gordon
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When managers commit errors of over-optimism in evaluating merger opportunities
due to excessive pride or animal spirit 1s termed as:

Options :

1.« Hubris Hypothesis

Managerialism

., Information Signalling

Sitting on gold mine
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The defence mechanism being used 1s anti- takeover amendments to the company’s
or articles of association are known as:

Options :

Poison Pill
1. %

Shark repellents
v d

Packman

Crown Jewel

Question Number : 101 Question Id : 5171449691 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

The acquisition of a company or division of another company. financed with the
substantial portion of borrowed funds 1s known as:

Options:

Corporate finance

> % Institutional finance

3 % Rehabilitation finance



4 Leveraged Buyout
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With reference to Capital Asset Pricing Model, consider the following statements:
Statement — I: Beta 15 a measure of a security’s risk relative to the risk of market
portfolio,
Statement — IT: The value of Beta measures both the systematic and unsystematic
risks of a security.

Which of the statements given above 1s / are correct?

Options :

Both the statements - [ and II are correct.

Both the statements - I and IT are incorrect.

3 « Statement -1 is correct, but Statement —II 1s incorrect

Statement —I 15 incorrect. but Statement —IT is correct
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No
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Match the List-I with the List-IT.

List-1 List - IT
s : Contracts which can be exercised onlv at the
I | Forwards (a) : ‘
date of matunty
Contracts which give the buyer the right but
II | Futures (b) L = - d
not obligation
; . | Contracts which can be exercised at any time
III | Options (c) y

before the matunty date

(d) Conlnulqcisl are non-standardised and suffer
the illiquidity most

Contracts where buyer and seller agrees to

V | European option (¢) | exchange assets on future date with the

involvement of stock exchange

IV | American option

Choose the correct answer from the options given below:
Options :

1 % I(e). IL(b). I (). IV (a), V (d)

I(e). II (a). I (b). IV (c). V (d)
2. %

3 % 1@ (1)), V(). V(a)

4 v 1. 10 (e). TI (b). IV (), V (a)
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If the US dollar appreciates relative to the British pound.
Options :

v It will take fewer dollars to purchase a pound
1.

It will take more dollars to purchase a pound

3 % It1s called a weakening of the dollar

Both (A) & (C)
4, %
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India’s foreign exchange rate system is:
Options :
Free float exchange rate system

Managed float exchange rate system

Fixed exchange rate system



Fixed target band exchange rate system
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Factoring agency 1s a service provider to a firm that extends the services of:

Options :

1 % Fixation of economic ordering quantity

5 % Fixation of minimum cash requirement level

Sales ledger administration and credit management
3. %

4 % Managing client’s logistic and sales management
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Low cost. Differentiation and Focus are examples of:



Options :

Corporate strategies

1.

Operational strategies
2.

Business strategies
3. %

Functional strategies
4,
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refers to the process of conducting research on a company and its
operating environment to formulate a strategy.

Options :

Strategic management

> Strategic analysis

3 % Sensitive analysis

Simulation analysis
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The BCG Matrix 1s based on:

Options :

Industry Attractiveness and Business Strength

5 % Industry Growth rate and Business Strength

Industry Attractiveness and Relative Market share
3. %

Industry Growth rate and Relative Market share
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The concept of marketing mix was developed by-

Options:

Neil Borden
1. %



Neilsen

3 % Philip Kotler

Stephen Morse
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Which of the following 1s more of personal medium of advertisement?

Options :

1 % Internet advertisement

Broadcast Media

3 « Direct mail advertisement

4 % Print Media
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If a company wants to build a good “corporate image.” it will probably use which

of the following marketing communications mix tools?

Options :

Advertising
1. %

5 % Sales promotion

Direct marketing

4 Public relations
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Which among the following is not included in 7 Ps of marketing mix given by
Booms and Bitner?

Options :

1 % Process

Performance
2. %



3 % Physical Evidence

People
E
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Which among the following are elements of communication mix?
I. Pricing
II. Publicity
ITI. Personal selling
IV. Advertising

Options :

LIET

1. %

LIE IV

II, IIIL. IV
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Match the List- I with the List- IL.

List-I List - 11

Strategy of engaging audiences who have
already interacted with your brand. to
I Market penetration (a) | encourage them to take a desired action
that may iterest them. such as
conversion.

Strategy wherein all marketing efforts on
II | Market skimming (b) | one selected segment within the total
market

Civil engineers designing flats, wvillas.
bridges ete. are an example of....

) Stl'é?h?g‘_‘,-' which 15 concerned with pricing
policies for late entrants to a market

IIT | Customized marketing (c)

IV | Concentrated marketing

Strategy where marketers charge higher
V | Remarketing (¢) |price of its product and service in the
beginning. and then reduce it over time

Choose the correct answer from the options given below:
Options :

1 & I(d). II(e), I (c). IV (b). V (a)

I(e), I (d), III (a), IV (c), V (b)

I(c). IL(b). III (d). IV (e). V (a)

I(d). II (e). III (b). IV (c). V (a)
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The customer or consumer is when actual performance exceeds the
expected performance of the product.

Options :

Happy

1. #

2 % Satisfied

Dhssatisfied
. e

Delighted
4.¢
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Consumer decision making which reflects a high level of purchase involvement is
referred to as:

Options :
Nominal CDM

1_%5

Extended CDM
d



“ Limited CDM

4 % Habitual CDM
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Soft drinks. ice creams. chocolates and biscuits are products that fall under the

category of:

Options :
Impulsive

1. ¢

Deliberate
. e

3 % Conveetive

4 % Corrective
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Which of the following 1s not an objective of Brand management?

Options:

To establish an identity for the product or a group of products.

1.
5 % To establish image for the product or a group of products.
To do telly calling and acquire sales
3.
To acquire place for the product in consumers’ minds for high and
4 % consistent quality.
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3 C’s of branding are: consistency. constancy. and

Options :

Continuity
1. %

5> % Coverage



“ Collaboration

4 Clarnty
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The purpose of supply chain management 1s to:
Options :

1 % Increase the production level

> « Manage and integrate supply and demand management

o Enhance the quality of a product and services

Provide satisfaction to the customer
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Green marketing 1s a part of:

Options :

4, %
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Social marketing

Service marketing

Relationship marketing

Rural marketing

Correct Marks : 2 Wrong Marks : 0

Match the List-I with the List-II and choose the correct option from the options

given below:

List - I List - II
I Value for money (a) Consumers look for quality in brands when
style " | shopping
1 Quality oriented (b) Consumers stick to the brand across product
style " " | categories brought over a period of time
Loyalty style of Consumers buy without much analysis or
I shopping (c) information
Consumers to focus on the best power gain
IV | Impulsive style (d) | not just the price but enhanced price
performance equation
Options:

Options :

1.




7 I(d). IO (a). III (b), IV (c)

I(b). II (d). III (a). IV (c)

I(c). II (b). III (d). IV (a)

I(a). II(d). III (b). IV (c)
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Assertion (A):  If the value of mode and mean 1s 60 and 66 respectively. then the
value of median is 64.

Reason (R): Median = (Mode + 2 Mean)
Options :

Both (A) and (R) are true. and (R) 1s the correct explanation of (A).
1. %

Both (A) and (R) are true. and (R) 1s not the correct explanation of (A).

(A) 15 true, but (R) 1s false
3.¢



(A) 1s false. but (R) 1s true
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The average daily wage of 100 workers in a shipyard was Rs. 200. with a standard
deviation of 40. Now. if each worker gets an increment of 20% in their wages, how

will 1t affect the mean wage?

Options :

The mean wage will remain unchanged

The mean wage will be inereased by 20%
2. %

3. % The mean wage will be Rs. 240

v Both (B) and (C)
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If we throw two dice simultaneously. what would be the probability that we get a
10 or 117

Options :

5/36
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Standard normal distribution has which of the following properties:
Options :

Mean = Variance = 1

Standard Deviation = Variance =0

Mean = 0. Variance = 1



Mean = Standard Deviation

Question Number : 128 Question Id : 5171449718 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Which of the following 1s a Non-parametric Test?

Options:

1 % F-test

Chi-square test

2. %

Z-test
3. ®

T-test
4, %
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Which of the following statements is correct about the arithmetic mean of two
regression coefficients?

Options :

1 % ltis greater than the correlation coefficient

It 1s less than the correlation coefficient

2 %
It 1s equal to the correlation coefficient
3. %
It 15 greater than or equal to the correlation coefficient
4.
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Statement — 1: The critical path in PERT represents the shortest path in a project

network.
Statement — 2: Activities on the critical path have zero slack time.

Options :

Statement-1 1s correct. but statement- 2 is wrong

5 % Both statements- 1 and 2 are wrong

3 ¢ Statement-1 1s wrong, but statement-2 1s correct



Both statements- 1 and 2 are comrect
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In a transportation problem with 4 supply poimnts and 5 demand points, how many
numbers of constraints are required in its formulation?

Options :

20

1.% ~
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A PERT network has 9 activities on its critical path. The standard deviation of each
activity on the critical path 1s 3. What 1s the standard deviation of the critical path?

Options :

81
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Which 1s the right sequence of stages of Internationalization?
Options :

Domestic, Transnational. Global. International. Multinational

Domestic, International. Multinational. Global. Transnational

3 % Domestic. Multinational. International, Transnational. Global



Domestic, International. Transnational. Multinational. Global
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Which of the following is not a force in the Porter Five Forces model?
Options :

Buvers
1. % ¥

Suppliers

3 ¢ Complementary products

4 % Industry rivalry
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The theory of comparative cost advantage 1s given by:



Options :

1. ¢ David Ricardo

> % Adam Smith

F.W. Taussig

4% Ohlin and Heckscher
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Match the List-I with the List —II and choose the correct answer from the options
oiven below:

List - I List -II

Lead and support Six-Sigma projects, align them with
organizational goals. and secure necessary resources.
Act as subject-matter experts and provide guidance and
coaching to project teams.

I | Champion | (a)

II | Black Belt | (b)

. . | Participate in Six-Sigma projects. assist with data
I | Green Belt | (c) P HE iR, W !
collection and analysis. and support improvement efforts.
o s . | Serve as team members. support project activities, and
IV | Yellow Belt | (d) POME : 2L e A e i
assist with basic data collection.

Options:

Options :

;% 10).I(2). I (o). IV (d)



5 ¢ 1@.I(0).I(). IV (d)

I(a). II (b). II (d). IV (c)
3. %

I(c). II (a). I (b). IV (d)
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Assertion (A):  International business environment differs from country to
country and even region to region within a country.

Reason (R): The business environment consists of mterrelated and dynamic
forces.

Options:

1. % Both (A) and (R) are true. and (R) 1s the correct explanation of (A).

> Both (A) and (R) are true. and (R) 1s not the correct explanation of (A).

3 % (A) 1s true. but (R) 1s false

(A) 1s false. but (R) 1s true
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The term Euro Currency market refers to:
Options :

The market in which Euro 1s exchanged for other currencies

The international foreign exchange market

The market where the borrowing and lending of currencies take place
3.« outside the country of 1ssue

The countries which have adopted Euro as their currency
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Information technology is the combination of computer science and-

Options :



Electronics

Telecommunications

3 % Networking

Digital marketing
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Which of the following is known as ‘*knowledge discovery database’?

Options :

1 % Cloud storage

Data warchousing
2. % h

Data mining
3.¢

Decision science system
4, %
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When was IMF established?

Options :

27® December 1945
1.9

1% January 1946

3 % 30% Tanuary 1947

24% September 1947
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Which bank has been established in China by BRICS countries?

Options :

New industrial development bank
1. %



New agricultural development bank
2. %

New development bank
3.¢

New commercial bank
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Which of the following statements does not explain the difference between

entreprencurship and management?

Options :

Entrepreneurs find the business, managers run it

Entrepreneurs own their businesses, manage employees

3 % Entrepreneurs earn a profit. and managers get a salary

Entrepreneur 1s a one-time job. and management is an ongoing process.
4.
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Which of the following type of Entreprencurs are also known as pure
entreprencurs because of their desire for self-fulfilment?

Options:

Spontaneous Entrepreneurs

Technical Entrepreneurs

Business Entreprencurs

Professional Entreprencurs
4. %
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Which of the following 1s a social enterprise?
Options :

Sulabh Complex
1.9



_ BCIL
2. %

3 % Indian Railways

4 x TSGENCO
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Match the List-I with the List —II and choose the correct answer from the options

given below:

List-1 List -1I

I E11rrep1‘vleneur~;hip and 5 |k ekt

Innovation -

. .y .| Pradhan Manthrt Matsya Sampada

II aps 'rlf. i b' . -

Gaps in Value Chaimn (b) Yojana (PMMSY)
III | Think Tank (c) | Atal Innovation Mission
IV | Machine Learning (d) | Nit1 Ayog

Options:
Options :
I(c). II (b). OI (d), IV (a)

1. %

I(c). II (a). III (d). IV (b)
2. %




I{c), I(b), III(a), IV(d)

E

I(d). I (b). III (c), IV (a)
4, #
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NITI AYOG. Government of India. has launched a scheme to develop ecosystem
for women entrepreneurship in India. Identify the scheme out of the following:

Options :
Women Empowerment Agency

1. %

Women Entrepreneurship Platform (WEP)

Nari Shakthi Ayog
3 %

Women Knowledge Center
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Assertion (A): Screening of business ideas involves analyzing the financial
projections and determining the potential profitability of business ideas.

Reason (R): Screening helps identify and mitigate risks associated with a business
idea. ensuring a higher chance of success.

Options :

Both (A) and (R) are true, and (R) is the correct explanation of (A).
1. %

5 % Both (A) and (R) are true. and (R is not the correct explanation of (A).

3 % (A) 1s true, but (R) 1s false

(A) 1s false. but (R) is true
4.
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Arrange the following steps m the correct sequence for conducting market entry
teasibility analysis:

I.  Evalvating market potential size
II.  Assessing competitive landscape
III.  Analyzing regulatory and legal framework
IV.  Identifying target customer segments

V.  Conducting cost and risk analysis



Options :

LIILIV. I and V
1.9

5 % ILILIOL IV. and V

3 % ML ITL. IV, and V

IV.LIL O and V
4, %
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With reference to the Micro Small and Medmm Enterprises (MSMEs). consider the
following statements:

(@)  Thus sector 1s the largest employer of human resources 1n India.

(b) It generates more employment opportunities per unit of capital mvested
compared to large industries.

(c)  These industrial enterprises account for 45 per cent of the industrial units in
the country.

Which of the statements given above 1s / are correct?

Options :

(a) only
1. %

(b) only
2. %



3 % (a) and (c) only

. (a). (b). and (c)



